D16 D19

SD295 SD345
(rft)
kg/cm2
D16 2500
D19 2850
1
t 18.0 cm
Lx 500.0 cm
Ly 700.0 cm
w 0.5 t/m2
P 10.0 t
2
1999 9
cw tw
cw= tx 2.4/10000
= 18.0x 2.4/10000
=0.004320 t/cm2
tw= w+cw
= 0.50/100+0.00432
=0.009320 t/cm2
WX
wx= twx Ly"4/(Lx"+Ly™4)
= 0.00932x 700.074/(500.0"4+700.0"4)
=0.007395 t/cm
Mwx1 Mwx2 Mwyl Mwy?2
Mwx1= -1/12x wxx Lx"2
= -1/12x 0.007395x 500.0"2
= -154.1 tcm
Mwx2= 1/18x wxx Lx"2
= 1/18x 0.007395x% 500.0"2
= 102.7 tcm
Mwyl= -1/24x twx Lx"2
= -1/24x 0.009320x 500.0"2
= -97.1 tcm
Mwy2= 1/36% twx Lx"2
= 1/36x 0.009320x 500.0"2
= 64.7 tcm
3
1999 [P73] H._Marcus
A VX vy
A =Ly / Lx
= 18.0/500.0
=1.40
vx= P/2x Ly™/(LxM+Ly™)

10.00/2x 700.074/(500.074+700.074)
3.97 t
vy= P/2x LxP4/ (LxM+Ly™a)



*

TMx1

TMx2

Thy1

Thy2

A =1.40

10.00/2x 500.0"4/(500.074+700.0"4)
1.03 t

TMx1 TMx2 TMyl TMy2
-Vxx Lx/4
-3.97x 500.0/4
-495.9 tcm
(vxtvy/3)x Lx/4
(3.97+1.03/3)% 500.0/4
538.9 tcm
-vyx Ly/4
-1.03% 700.0/4
-180.7 tcm
(vytlxx vx/(3x Ly))x Ly/4
(1.03+500.00% 3.97/(3% 700.0))x 700.0/4
346.0 tcm

Mpx1l Mpx2 Mpyl

Mpx1= TMx1x 2/Ly

Mpx2

Mpyl

Mpy2

Mtx1

Mtx2

Mtyl

Mty2

-495_91x 2/700.0
-1.4
TMx2x 2/Ly
538.94x 2/700.0
1.5
TMy1x 2/Lx
-180.73% 2/500.0
-0.7
TMy2x 2/Lx
346.03x 2/500.0
1.4

Mw+Mp

Mpy2

MEx1 MEx2 Meyl Mty2

Mwx1+Mpx1
-154.06-1.42
-155.5 tcm
Mwx2+Mpx2
102.71+1.54
104.2 tcm
Mwy1+Mpyl
-97.08-0.72
-97.8 tcm
Mwy2+Mpy2
64.72+1.38
66.1 tcm

ft I
cm2/m t/cm2 cm tcm tcm

D13 200 6.35 2.50 13.13 | 208.4 155.5
D13 200 6.35 2.50 13.13 | 208.4 104.2
D10 200 3.55 2.50 13.13 | 116.5 97.8
D10 200 3.55 2.50 13.13 ] 116.5 66.1
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